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QUESTION 1

On an All Flash FAS, where is the root parity information located on a node using Advanced Disk Partitioning?
A. on a single SSD drive, regardless of RAID type

B. on a single SSD partition

C. distributed among SSD patrtitions

D. on two SSD drives, regardless of RAID type

Correct Answer: D

QUESTION 2

A storage administrator moves a LUN from one volume to another.
In this scenario, what is left behind in the volume?

A. clones of the LUN

B. LUN geometry settings

C. all of the deduplicated blocks from the base LUN

D. Snapshot copies of the volume

Correct Answer: C

QUESTION 3

Where would you look to find the minimum and the maximum number of array LUNs supported by FlexArray?
A. OneCollect

B. Config Advisor

C. Hardware Universe

D. Interoperability Matrix Tool (IMT)

Correct Answer: C

QUESTION 4
When FCoE is used in a cluster, which feature must be licensed?

A. iSCSI
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B. CIFS
C.NFS
D. FCP

Correct Answer: A

QUESTION 5

A cluster is running ONTAP 9.3. You create a SnapMirror relationship and specify the type as DP and the policy as
MirrorAllSnapshots. When you view the newly created relationship, you notice that the policy is MirrorAllISnapshots, but
the type is XDP, not DP.

In this scenario, why is the type XDP instead of DP?

A. ONTAP 9.3 does not support DP.

B. The source NetApp cluster is running an older version of ONTAP.

C. ONTAP 9.3 defaults all new relationships to XDP.

D. The MirrorAllSnapshots policy is available only for XDP.

Correct Answer: D

QUESTION 6

You have an 8-node cluster and need to test a ping to all cluster interconnect ports between all of the eight in one
command.

Which advanced command would accomplish this task?
A. cluster ping-cluster

B. network ping6

C. network ping

D. cluster peer ping

Correct Answer: A

QUESTION 7

You need to create a new LIF on WLAN 10. The port-channel configuration on the upstream switch has VLAN 10 set to
the native (untagged) VLAN.

In this scenario, what should be set as the LIF\\'s home port?

A. a0a
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B. a0a-10
C. e0c-10
D. eOc

Correct Answer: B

QUESTION 8

An SVM is configured to authenticate SVM administrators with the access method set to Password. A computer account
for the SVM exists on the Active Directory domain controller. You are now required to authenticate administrators
through the domain.

Which two steps are required to accomplish this task? (Choose two.)

A. Re-create the computer account for the SVM on the domain.

B. Create a login account on the cluster for the domain users with an access method of "domain”.

C. Create a custom role for all users who belong to the domain.

D. Configure the SVM as a tunnel to the domain.

Correct Answer: BD

QUESTION 9

Your customer has a Windows user that must access a volume with UNIX security style permissions. What must be
done to enable the Windows user to access the volume?

A. A separate volume with an NTFS security style must be created.
B. The volume\\'s security style must be changed to NTFS.

C. The volume\\'s security style must be changed to Mixed.

D. The Windows user must be mapped to a valid UNIX user.

Correct Answer: A

QUESTION 10

Click the Exhibit button.
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slot 4: 40 Gigabit Ethernet Controller XL710 QSFP+
eda MARC Address: 00:a0:98:90:3c:0c (aute—-40g cri4-fd—up)

QSFP Vendor: CISCO
QEFD Dart MNumbcr: LA55%3-Dp1128-B50
OSFP Serial Number: LCC1930G7AX-—A
edz MRC Rddress: 00:a20:98:90:3c:10 (auto-40g cri4-—fd—up)
OSFP Vendor: CISCo
QSFP Part Number: 22312543
OSFPE Serial Number: TED1S30EQ4T-R
Device Type: ¥X1.710 B1
Firmware Version: nvm 5.04 etid 8000250c
Part Number: 111-02590
Hardware Revision: 5J
Serial Number: 031552001014

Referring to the exhibit, how are ports e4a and e4e being used?

A. as 40 Gb Ethernet ports connected through a QSFP+ to four 10 Gb Ethernet ports on a 10 Gb Ethernet switch
B. as 40 Gb Ethernet ports connected to a 40 Gb Ethernet switch

C. as 40 Gb Ethernet ports connected to a Cisco Nexus switch using native FC

D. as 40 Gb Ethernet ports with no connection to any Ethernet switch

Correct Answer: C

QUESTION 11

Your company is merging with another company that has overlapping IP addresses from the same subnet range. You
need to connect your ONTAP 9.3 cluster to the overlapping network.

In this scenario, which ONTAP networking feature allows connectivity without IP address conflicts?
A. VLAN

B. subnet

C. broadcast domain

D. IPspace

Correct Answer: D

QUESTION 12
Which two statements about replicating FlexGroup volumes are true? (Choose two.)

A. You can increase the capacity of a FlexGroup volume that is being replicated.
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B. You cannot perform a resync on a FlexGroup SnapMirror relationship after it has been broken.
C. The SnapMirror relationship type must be XDP.
D. The SnapMirror relationship type must be DP.

Correct Answer: AB

QUESTION 13
Click the Exhibit button.

: 1> atorage failover show
Takeover
Node Partner Possible State Description

nodel node2 = Waiting for giveback

node2 nodel false In takeover.

node3 noded = Waiting for giveback

node4 node3l fals= In takeover, Auto giveback will be

initiated in 30 seconds

Your 4-node cluster has two controllers in takeover as shown in the exhibit. Which action must be performed to ensure a
giveback occurs on both nodes?

A. Perform a giveback of nodel.
B. Perform a giveback of node4.
C. Perform a giveback of node3.
D. Perform a giveback of node2.

Correct Answer: B

QUESTION 14

You complete an installation of a FAS8200 that has two separate stacks of disk shelves. In this scenario, which NetApp
tool should be used to validate the disk shelf cabling?

A. Config Advisor

B. OnCommand System Manager
C. OnCommand Unified Manager
D. Hardware Universe

Correct Answer: A
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QUESTION 15

You have a 2-node NetApp cluster with CIFS volumes and SAN LUNs on both nodes. The FC hosts have MPIO
correctly configured and see LUN paths through both NetApp nodes.

During a node failover, which two statements are true? (Choose two.)
A. FC hosts will not experience an outage.

B. FC hosts will experience an outage.

C. CIFS users will not experience any outage.

D. Some CIFS users may experience a brief share outage.

Correct Answer: BC
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